- SOL Checkpoitit Test

ower of 7.

. Add (8+51) % (-13—6i)"

A.-5+1i
B.5-i
C.-5-i
D.5+i

. What is the conjugate

of-5+3i?

A. -5-3i
B. 5-3i

C.-3-5i
D.-5+3i

. Subtract (6 —2i)—(-4-7i)

A. 2+9i
B.10-5;
C.10+5i
D.2-9i

&IRLY The student will perform operations on complex
numbers and express the results in simplest forms.
Simplifying results will involve using patterns or the
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4. Simplify i**

A.i
B. -1
C. -i
D.1

3—-i-
5. Simplify'2 13
6-11i+3i°
13
3-11i
13
- 3-11i
4-9;°
3—-11i
-5
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. Multiply (4 + 2i)(3-1)

14 + 2i
12+2i
14— 2i
12-2i

oQwp

Ly e o 5
. Simplify _4;
A.1+i
1+2i
2
-5(1+ 2i)
C. p

D 2
1+ 2

. Simplify - 7

A i
B. -1
C. -i
D.1

- Simplify ¥3
i3

i3
J3

S 0w
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10.

11.

12.

Siniplify (4-iN2)4+i2)

A. 14
B. 16
C. 18
D. 20

Simplify
8+1i

AT

8+7i

1+2
92—

B. 7

C. “4+7i
-4+7i

D- 13

Simplify v-72 ++/-50

A 112
3002

B
C. i3
D

EENE]

A. 3i
3

=]
B. 7

V21

Q

7
D. 7i

Simplify ﬁ
i

l
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14. Simplify i
A. -1

l

l

1

g 0w

15. Simplify (5-3i)
A. 16-30i
B. 34
C. 34-30i
D. 16

16. Which of the following
statements is true?

y : A. 2+3iis apure
imaginary number.
B. The reciprocal of 3+i
is 3—1i. |
C. (4+3i)(4-3i)=25
D. (2+3i))—-(-2-3i)=0
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